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− −− ⎯⎯⎯→ ⎯⎯⎯→
p»n p»n

      

2124 4
6 42

−
=

=

³H p»n nj  ½kº I¶ïÂ¤IM  ÁHp¼UoQ  à½jI¶

³H p»n nj  ½kº I¶ïÂ¤IM  ÁHp¼UoQ  à½jI¶

   

21 1 42 21 14 74 12
−⎯⎯⎯⎯→ = − = =H¼ß w  ¢Lö   

   ) 3-      :  146  147(  

----------------------------------------------     

61-  »2«) (

                :  

  

1 2 2 3
12 32 2 2 2 2

36 9
= = =   

2⎯⎯⎯⎯⎯⎯⎯→ =´ÄoÃ¬ïÂ¶ nm] ¸ÃÎoö pH   

             1=  2= 

    :           
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3

1 3
13 13 132 2

2 3
23 23 232 2

36 9 324
1 320
4 9 4

3

× ×
= = =

=
× ×

= = =

   

1

3 1
31 31 312 2

2 1
21 21 212 2

9 36 324
1 360
4 36 36
2

× ×
= = =

=
× ×

= = =

  

    3

1

       :  

3 3

1 1

320 8
360 9= =   

   ) 2 -   :  5  10(  

----------------------------------------------     

62-  »1«) (

                

                  .

 :              

  

339 10−= −Δ = ×   

33 10−= −Δ = − ×   

        :    

2 21
2= Δ + = −   

3 3
3

3 10 4 10
9 10 0
− −

−
=− × = ×

= × =
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯→   

3 3 3 23 10 9 10 2 10− − −− × + × = ×   

2 3 3= =   

   ) 2 -   :  21  23(  

----------------------------------------------     

63-  »3«) (

 6−                      

6−      6−             

    6−    6    .    

       6      

2 1 6= −         .9  

  2 1 9= −    .     

              

21
2= 1

2=  
2

2=   
2

2=   )

   .   (      2 1 9= −     

2 2 2 2
2 1 2 19 92 2 2

−
= − = − ⎯⎯⎯⎯⎯⎯⎯→Z»jq¶  jIdUH  ¾à Äq\U   

2 1
6 3

1

62 1 1 2
6 6 10 1092 − −

= −
= μ = × = = ×

− +
= − ⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯→   

3 3 3

6
6 10 2 10 6 10 9

2 6 10

− − −

−
− × × − ×

= −
× ×

   

1
3 3 12 123

− = = =   

   ) 2 -  :    32  40(  

----------------------------------------------     

64-  »3«) (

             

         −          

ε        ε  .   
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  ( )      ==        

   .  ε > ε ( )   .     

      >  ε = ε     .

    ( )       .     

10
20

10 20 2ε =
ε =

ε ε
= ⎯⎯⎯⎯→ = =   

   »3 «   .      

    )2 -       :  61  66(  

----------------------------------------------     

65-  »3«) (

     7            4 

5  6             .( ) 2  3 

 :        .    

  

       66        

  5  4           )   

    :(           

6
6

12
6 6 6 6 12= Ω

=
= ⎯⎯⎯⎯→ =   

6 5 5 5
6 4 4 4

12 12
12 6 2

= = =
= = × =

   

       1  2 3         

  4 5 6+ +  4           

         2        .

     :  

5 1
5 1

2 225 5 5 5
2 212 141 11 1

12 3
1414 4

= =
= Ω = Ω

×
= ⎯⎯⎯⎯⎯⎯⎯→ = =

×
   

    )2 -  :        67  76(  

----------------------------------------------     

66-  »4«) (

    0μ
=         

                

    .         .    

  :  

2 1
2 1 1 1

12 2 1 2 1 1
0 1 0 91 1 2 1 1 1

1
0 9

= +
= − =

+
= × ⎯⎯⎯⎯⎯⎯⎯→ = ×   

               

  .   :    2 1 1 10 25 1 25= + =   

 1 1 1
1

1 1 1

1 25 1 11 9 80 9 8
+ +

= × = =   

   ) 2 -  :  99  100(  

----------------------------------------------     

67-  »2«) (

            :   

2 1 2 1
2 1 2 1

0 08 0 05 0 08 0 05− + − +Δ = =
Δ − −

   

2 1
2 1

0 08 0 08−
= =

−
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  .     

ΔΦ
ε = − Δ

ε = − θΔ
ΔΦ = θ

   

3 2 3 4 2 1 2
1 1

10 10 10 10− −
= θ=

= = × =
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯→   

0 0811 10 1
Δ =− ΔΔε = − × × × ⎯⎯⎯⎯⎯→

Δ
   

38 10 8−ε = × =   

          :  

8
4 2 8

8 18
ε =
= × = Ω

ε
= ⎯⎯⎯⎯⎯→ = =   

                

   ′          

         .          

            .  

  

    )2 -      :  111 112  117(  

----------------------------------------------     

68-  »4«) (

               :  

55 10 0 5= = × =   

   :        

220 2 102 −= = ×π= ⎯⎯⎯⎯⎯⎯⎯→   

2 10 5 1 1000 02 2
π= × π =   

1100 6 600
π⎯⎯⎯⎯→ π = =nIM  ¸Ã²»H   

    )2 -      :  122  126(  

----------------------------------------------     

69-  »1«) (

    ) 1   (  :  

  

11 0 76 4 80= = + = + =½¼Ã]   

    ) 2   (       .

  :         

  

22 0= + =½¼Ã]   

012 30 6
2 76 6 70= × =

⎯⎯⎯⎯⎯⎯⎯⎯⎯→ = − =½¼Ã]   

1
2

80 8
70 7= =     

   ) 1-     :  37  38(  

----------------------------------------------     

70-  »3«) (

             

 :     

4 2 4 2
2 5 4 1

+ > − > −
+ > + > −

¡  ¡

¡  ¡
   

www.konkur.in

Telegram: @konkur_in



  »»  2525    14031403««   23  

            1 -   .    

2 2
2 1 2 1

1125 1252− = − =   

2 21 4 2 1252 + − − =   

)1                        (1 12 12 1252 + =   

2 2
3 2 3 2

1375 3752− = − =   

2 21 2 5 4 3752 + − + =   

)2               (21 3 12 9 3752 + + =   

) 1)   (2  (  :  

2 2
12 12 125 12 12 1

375 33 12 9 3 4 3
+ +

= =
+ + + +

   

2 4 3 12 12⎯⎯⎯⎯⎯⎯⎯⎯⎯→ + + = +¸Ãõw»  ¸ÃÎoö  »  ÁpIwï½jIw   

2
9

8 9 9 1 0
1

=
− − = − + =

= −

¡  ¡

¡  ¡  ù

   

          1
2      

        .  9=  )  1 )  (2 (

    :  

91 1 125 2512 1 1252 2 120 24
=+ = ⎯⎯⎯→ = =   

        :   

  
1 25

2 2 242
9

1 42
=

=
= ⎯⎯⎯⎯⎯→   

225 36 1350 1 3524= × = =   

   ) 1-     :  54  55(  

71-  »3«) (

                 

                  

        .            

           :  

aaaa
aaaa
aaaa
aaaa
aaaa
aaaa
aaaa

  

22 1 2 2 1 1= − = + − +   

2 1

1 2

0 2 2
2 1

20

1 10 2 2
= =

= =
⎯⎯⎯⎯⎯⎯⎯→ = + × − +   

21200 75 2= − −   

)1              (21125 2= −  

aaaa
aaaa
aaaa
aaaa
aaaa
aaaa
aaaa

  

22 1 2 2 1 1′ ′ ′ ′ ′ ′= − = + − +   

2 2
2 1

1 102 2
′ ′= + − +   

)2              (
1

7 5 2 2
2

1 175 2 2
=

′=
′⎯⎯⎯⎯→ = + −   

      ) 1)  (2  :  (  

2 2 2
2

1 1 1125 752 2 2
′− = + −   

2 2
2 2 2

150 100 102
′ ′ ′= = =   

   ) 1-  :      71  72(  
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72-  »2«) (

                 

    .2 1 1= + βΔθ   :  

2 2 1 11 1= + β Δθ = + β ΔθýoË ÍÄI¶ ýoË ýoË ÍÄI¶ ÍÄI¶   

4
1

3 0
1

140 10
1 5 540 10 100 8 569 9

−

−

= + β =

= × β = Δθ= Δ = × =
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯→

ýoË ýoË

ÍÄI¶ ÍÄI¶

   

4 340 1 10 56 40 1 10 56− −+ + × = × + ×   

40 1 0056 40 1 056 40 224 1 0056 42 24+ = + =   

2    

   ) 1-    :  93  94(  

----------------------------------------------     

73-  »3«) (

               

 :               

1  
2

020←⎯⎯ 1  
3

00←⎯⎯1  00   

  
1

00⎯⎯→  020−   

1 1 2100 0 20 42000= Δθ = × × − − =gÄ   

2 1 2 1 14200 0 20 84000′= Δθ = × × − = −JA  

3 1 3 1 1336000 336000= − = − × = −   

1 2 3 1 10 42000 84000 336000 0+ + = − − =   

1 1 12 8 0 10− − = =   

                 

  :               

2  
5

020←⎯⎯ 2  00   

  
4

00⎯⎯→  
1

00⎯⎯→  020−   

1 442000 336000= = =   

5 2 2 24200 0 20 84000= Δθ = × × − = −JA   

1 4 5 20 42000 336000 84000 0+ + = + − =   

2 28 2 0 4 5+ − = =   

        :  

2 1 44001
2 1

2

10
454 5

− ==
= ⎯⎯⎯⎯⎯⎯→

=
   

110
1 144 4400 100 1000== = ⎯⎯⎯⎯→ =   

   ) 1-    :  100  106(  

----------------------------------------------     

74-  »3«)  (

Δ = +   

2 10 Δ = − =
´\eï´À  k¹ÄHoÎ n j

    

    .          

2 2
1 1

∝ =   

2
1 2

1

77 273 350 7 6
27 273 300 6 7

+= = = =
+

   

2 2
61 400 28007⎯⎯⎯⎯→ − = =   

   ) 1-  :  130  132(  

----------------------------------------------     

75-  »4«) (

1000 280720
=

= − =
=

     

280 0 28 %281000η = = =    

280 4000 7= = =    

   ) 1-  :  145  146(  
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76-  »2«) (

    :  

1 (  

23
3 2

3 2
3 2 3 2

1 5 6 02 103 7 148 1
× ×

× ×
·¼Ä   

 227 525 10= ×   

2 (    115 20 3 492 2
− − + − += = =

·¼Ä  nIM   

     49   5    13         

      10 2 1
36 4 5 5    .

                         

    .  

3  )        (    (

             .  

4)      (24 29     (... 

    .  

   ) 1-    :   16 17  27  32(  

----------------------------------------------     

77-  »3«)  (

  ( )  ( )   .  

8   

24   

20  

17  

  :     

  (    ( )        

      .  

  (  3 3
18 3+     

   2=  3     4  .    

   ) 1-  :      28  30  34(  

78-  »3«)  (

3⇐      

2 4⇐       

2 4 3⇐      

2⇐       

 :   -       

   ) 1-    :  53  56(  

----------------------------------------------     

79-  »1«) (

3 22 6 2 3+ → +   

1 1 2 2 1
1 2

1 2 1 12
273 273 91
× ×= =

+
    

                 1 1 68=  

                 

      :  

2
2

2 2

1 2 271 68 22 4 3 1= × × ×   

1 35=   

   ) 1-  :      77  81(  

----------------------------------------------     

80-  »1«)  (

       :    

2 4 2 4 3 2 22 6 3 6+ → + +    

     18          .

  :      

4 2 22 3 2 4+ → +   

    2    :  .  18 92 =   

   ) 1-  :      62  64  84(  
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81-  »4«) (

    :    

1   (  

 
1

3 1
3 13

48 2 4
20

−
−

−= = =
Â²¼¶  ³o]

Â²I«a
Â²¼¶  ´\e

   

2       (10× ×
=

Â¶o]  kÅnj Â²I«a

Â²¼¶  ³o]
     

              

   .      

13 23 31 4 16 164 −× + + × =      

12 23 32 4 16 142 −× + + × =      

3 (  

0 3 30 27 36= + =   030   

36680 180136× =¼±d¶
¼±d¶

    

4    (2 4   +    .    

     +          2
4
− 

        .  

    )1 -        + :  

  78 79 94 95 98 99  103(  

----------------------------------------------     

82-  »1«)  (

2 2 2
2

1 1

3 3 0 290 29 1= = = ×   

  1000 12 20001 1× ×    

    2                  .

    2   3            

   1  .      

 2    

100
−

=
¾Ã²»H  ÁI¶j nj  ÁoÄmQï °dº H  ³o¬ ¾Ä¼º IY ÁI¶j nj  ÁoÄmQï °dº H  ³o¬   

3 0 29 0 29 2000100
× − ×  ×   

    211 6  

   ) 1-    :  114  115(  
----------------------------------------------     

83-  »2«)  (

              
 .  

                 
          

                   
       .  

   ) 1-  :     89 90  98  
 2-   :     19   

 3-    :    11(  
----------------------------------------------     

84-  »2«)  (

6 610 200 101000= × = ×
½kº¼{ï®e ³o] ½kº¼{ï®e ³o]

¼±d¶  ³o]
    

2
30 2 −=      

2
2 2 3
3 3 2

3

10 2
60

−
− −

−= ×   

2
30 003 −  

         4 2 3  :    

4 42 0 003 0 006+ += × =   
   ) 1-  :     94  95(  

----------------------------------------------     

85-  »1«) (

  (           .   
     (         

    .    
  (          .    

   ) 2-      :  12  14(  
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86-  »2«) (

2 2 2
3 1

2+
++    :     

2 21→ + +   

2 2 2
2 2

2 2

1 14 2 14 2 1
+

+
+

+
× ×

+
   

2
2

2

18 6 31× =   

5 12   :21 3 18 18 5+ = + =   

3 1 3 5 1 16+ + =     :  

4 5 42 1 2 1 3− −+ + =    :  4  7   

16 3 13− =   

   ) 2-   :      32 33  70(  

----------------------------------------------     

87-  »3«) (

    :  

1    (40        40      

 .         

2 (  

3 2

1 1
3 2 0 5 2 5

40
− −Δ −

= =
Δ

   

1 1 10 05 0 5 0 025− − −= × =   

3 2 32 2+ → +   

3 2
10 052

−= =   

3 (  

3 2
1 1 600 05 1

− −= = ×   

1 13 − −=   

4        (       

 .     

   ) 2-     :  90  91(  

88-  »1«) (

3 2 2 198 9+ → + Δ = −    

2 3
3 1 284 6 142 32 2→ Δ = − − =   

2
1 1 495 247 52 2→ Δ = − = −   

2 304 1+ → Δ = −   

   ) 2-     :  72  73(  

----------------------------------------------     

89-  »3«) (

    :  

1  (           .  

                   

  .   (  )        

2  (   :         

                 5
2=

Ákº¼ÃQ  ·»oT§²H  Sÿ]

Ákº¼ÃQIº  ·»oT§²H  Sÿ]
    :  

  

                             3
1=

Ákº¼ÃQ  ·»oT§²H  Sÿ]

Ákº¼ÃQIº  ·»oT§²H  Sÿ]
     :  

3 (  

2
2

2

11400 28×      :   

2

91 45501× =   

2 4
2 4

2 4

1560 22 4×      :   

2 4

183 45751× =   

4   (        :         

2 2 33 2+ →   

  Δ        Δ   :        

91 183 92Δ = − = −y¹¨H»   
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   :   1020  3   

3
3

3 3

1 921020 276017 2× × =   

62 76 10= ×  
   ) 2-  :      62 72  73(  

----------------------------------------------     

90-  »3«  ) ( 
1    (Δ        :    

4 8 2 2 2 25 4 4+ → +   

  
55 4 4+ = → = = + − −    

8 2 2 5− − − =Δ = Δ + Δ + Δ + Δy¹¨H»   

7 8= −− Δ + Δ   
8 415 2 348 2 357 5 495= × + × + × + ×   
7 799 8 463 7205 9297 2092− × + × = − = −   

2(                 100   
         :  

 :    

4 8 2
4 8 2

4 8 2

118 48 88×   

4 8 2

2092 418 41 100× × =  

  95 2% 100 4 8%− =   
    :    

×
=

× Δ
RITwH ®ÃUH  ³o¬ |¼±i  kÅnj ½k{jHpA  ÁI¶o¬

RITwH  ®ÃUH  Â²¼¶  ³o] ÁoT¶¼Ã¨¼TwH  KÄoò
   

18 48 418 4 %95/288 100 2092
× =

×
   

  100 95 2 4 8%− = =   
   ) 2-   :    67(  

----------------------------------------------     

91-  »3«  )  ( 
     3 12     4/2   3 

           .   60   %
  6/1  .      

 1 1 2 2 2 2
2

1 1 2 2 1 1
3 84= = =   

   45               

84/3  .    

3 2 22 2
2 4 0 0 2 4

2 2
2 4 2 2 2 4

→ +

− + +
− +

ýoË pI¬  ¼¶ nI {

¾Ã²»H  ¼¶

¼¶  RHoÃÃûU

ÂÄI¿º  ¼¶

   

2 4 3 84 1 44+ = =   

2 ) 88/2   (2        3 

  .   2  96/0  .       

2

1
2

0 96 1 28
145 60

−
= =

×
   

   ) 2-  :      91  92(  

----------------------------------------------     

92-  »3«  )  ( 

)   .   ( )    ( )  ( ) (  

 :    

            (      

          .  

 )    (  )   ( (    

     .    

    (     3 7   

        6 13    .   

   
  

  
   (             ( )

                

 .        
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   ) 2-     :  108 112   113(  

----------------------------------------------     

93-  »2«) (

         8      6 

                .== 

         3    3      

      .         5   

         .    

                     

    7-  .   

   ) 2-  :      68  70(  

----------------------------------------------     

94-  »3«) (

                

      .  

     :  

1            (0 5     1 

         .  

2
2 2+ −+ → +   

2 (        +  −   

           +  −   .  

4               (
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   ) 3-      :  14  18(  

----------------------------------------------     

95-  »1«) (

3 3 1 12 2 10 4 10+
− − − −= × × = ×   

3 1 1 3 14 10 2 8 10+ − − − − −Δ = × × = ×   
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----------------------------------------------     
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            :  
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3 15 10− −= ×   

                :  

1 1 2 2
1 2

+ +
+ × + ×

=
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3 3
3 12 10 30 5 10 20 3 2 1030 20

− −
− −× × + × ×= = ×

+
   

          :  

4 5 432 10 2 10 2
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− −×= − = − + = − − =   

  :            
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110 1000= ×   

33 2 10 1
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−×
× ×   

143 5 1000 4 5921 1× × =   

   ) 3-   :      25  28(  
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2
2

2
+
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         2        .  

2380 1 2 6 02 100 75 100 65 1 1

− −

−
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11 1 1 25 760 60 245 10 −× × × × =

×
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----------------------------------------------     
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          .  
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2  (           .  
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3  (         .   
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−
−
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2

2
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    )3 -  :        44 45 47 54  55(  

----------------------------------------------     
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  (.       )       
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56      2  .     

2  (2               
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----------------------------------------------     
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----------------------------------------------     
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----------------------------------------------     
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